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  �� ا�
����ء  ��1
�� ا�
	ض ا������ 

  ا���� وا���رة 

 ��	��  :  1ا�

I  #" �� ا�!�ء	%" ا�$	ــ درا'" &AB   


	 ا�����  1� ��
P: ــ ��د ا���ى ا���
�

Rز  
�

   

�أ  2� ���  ــ ��#� ا����� �� �"�"� �! ��� أي 

P: ا��'�ر ��%!$  R 0+ =
�� �

Pأي أن  
�

Rو  
�

  % �از+$ن و�$� $�*  

R-,ن 
�

  4"� ���د%� �
	 ا���3 ا��$12 أي �$0 +/. 

Pا78$ه ا���ة  
�

  �> ا�;: ا��!��* �
	  ϕو�98ن زاو%�  

  ا���3 ا��$12 و�$� $�* ?,ن ا� �$س �"= ا���3 ا��12$ 
� 9$ك A$� B % B�  . وا�7

 D�7 ��ا�" + :
A B A B
W (P) W (R) 0
→ →

+ =
� �

  أي أن  

A B A B
W (R) W (P)
→ →

= −
� �

و  
A B
W (P) mgh
→

=
�

  �E"F أن  

h ABsin= α  ن,- G!و�
A B
W (R) mg sin
→

= − α
�

ℓ  أن E"F�AB = ℓ   

� 9$ك  3A1 ?�ة اIJ �"
fــ �8
�

   


B أن ا���ة �+R
�


	 ا���3 ا��$12 و8��	 #D�K ���ة  � �"L$�� 3 ا��$12 و?�ة��
� �= ?�8"= ، ?�ة �!��"� �
	 ا�#��

� 9$ك Aا :NR R f= +
�� �

Nو�!G -,ن   N
A B A B A B A B
W (R) W (R f ) W (R ) W (f )
→ → → →

= + = +
� �� � �

NRو��$ أن  
�

���د%� �
	 ا���3 ا��$12 -,ن  


0$ �!��م و�$� $�* -,ن IJ
A B A B
W (R) W (f ) mg sin
→ →

= = − α
��

ℓ  

3: �8
"O ��دي 

A B
W (f ) 1,005 10 J
→

= − ×
�

  

�$ب �Jة ا���ة �f
�

  :  

A B
W (f ) f .AB f .
→

= = −
����� �

ℓ  أي أنf mg sin= α  $%د��3f 1,005 10 N= ×  

  : زاو% $ن ��$%� $ن  ϕو  αــ �!
"= أن  4

 $!%�� 19Rل ا�TU =� :T

N

P
tan

P
α و  =

N

f
tan

R
ϕ Pو�,L�$ط ا��T?� ا�� 07"�  = R 0+ =

�� �
  $!%��N NP R=  وTP f=  أي أن

tan tanα = ϕ  أي أنα = ϕ  

� 9$ك Aب ��$�1 ا$��k tan= ϕ   أي أنT

N

P sin
k tan 0,36

P cos

α= α = = =
α

  

II  ءY7ا����� -* ا� �#�� �Lــ دراBCD   


	 ا�����  1� ��
′P: ــ ��د ا���ى ا���
�

′Rو  
�

  
2  <
�$ر ا�� ��$� O
� % A B�  أ+�� ا��رس : ــ �!
"= أن 1IJ وزن ا�7

 *2Y� ل ا+ �$لTU G+أ �
 �+lδ
��

Y7!8P ا���ة  
�

  TIJ  

 $"2Y�Wδ  أن E"F�W P. lδ = δ
���

Pو��$ أن  
�

 � �$Z ة�?  

	 +/. ا���"Yات TUل اA+ �$ل ، -,ن � \-$F8  
  : Cإ�	  Bا�1IR ا�9
* TUل اA+ �$ل �=  

 
B C
W (P) P. l
→

= δ∑
��� �

lو��$ أن   BCδ =∑
�� ����

  -,ن  

B C
W (P) P l P.BC
→

= δ =∑
�� ����� � �

Pأي أن 
�

  �"�-$F� ة�?  

 <^���$� Aإ O
� % A $0
IJ �9ن أن�B  <^و ا���C   

  
B C
W (P) P.BC
→

=
����� �

  

3 � B�  $L ��$ل إ��اZ"$تــ �8
"� 1IJ وزن ا�7

 P
�

BCو  
����

)-* ا�!���   )O, y, z)   
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( )

B C

C B
C B

B C
C B

W (P) P.BC

y y0
W (P) . mg z z

z zmg

→

→

=

−  
= = − −   −−   

����� �

�  

 ��A�� 1IRا� �"
�8m,g, r  :  

B C
B C
W (P) mg(z z ) mgr
→

= − =
�

أي أن  
B C
W (P) mgr
→

=
�

  

4  *�
�: ــ +�
U O$_"� ا��7اء ا�
B C
W (P) P.BC
→

=
����� �

  $!%�� ، 19Rا� ���و
r

cos
BC

θ rأي أن  = BC.cos= θ  و�$� $�* -,ن

B C
W (P) mgr
→

=
�

  

 G �"? :
B C
W (P) 1176J
→

=
�

  

� 9$ك ھ*  5A1 ?�ة اIJ أن ="
�: ــ �!
B C
W (f ) f .BC
→

= −
�

   

 *2Y� ل ا+ �$لTUlδ
��

Y7!8f ا���ة  
�

  $"2Y� TIJWδ  أن E"F�  

W f. l f . l.cos

W f . l

δ = δ = δ π
δ = − δ

���

   

:  Cإ�	  Bا�1IR ا�9
* TUل اA+ �$ل �= 
B C
W (f ) f . l f l
→

= − δ = − δ∑ ∑
�

�lو��$ أن   BCδ �و�$� $�* -,ن  ∑=
B C
W (f ) f .BC
→

= −
�

  

 ��$Fه ا�Kھ *- G �"? :
B C

2 r fr
W (f ) f 613J

4 2→

π π= − = − = −
�


�$ أن  �� 1
BC P

4
  )�F": ا��ا�2ة  E"F�P أن  =

6  =� B�  :   Dإ�	  Bــ 1IJ وزن ا�7�B �!� ا+ �$ل ا�7

B D B C C D
W (P) W (P) W (P)
→ → →

= +
� � �

و��$ أن  
C D B C
W (P) W (P)
→ →

= −
� �

و�$� $�* -,ن  
B D
W (P) 0
→

=
�

  

 ��	��   2ا�

�$ب ا����� ا�Yاو%� ��وران ا���Fك  1�  : ــ 

 �?Tا�� $!%��v R= ω  أي أن
v

R
ω =  

�8
"O ��دي :
0,5

5rad / s
0,1

ω = =  

�$ب ا���رة  2�(T)ــ 
�

P :  

 $!%��(T) T.v T.v.cos(T, v)P = =
� � �� �

�� ا�19R -,ن �)و )T, v 0=
� �

  

(T)و�$� $�* -,ن  T.vP =
�

(T):��د%$  1226WP =
�

  

�$ب ا��Yم  3�
�Yدو�� ا��CM  �#�Fــ أ ــ � :  


0$ ا���Fك ��-> ا�����F ھ* �� �(T)Pا���رة ا���F#� وا� * %
�

  

1d�8 *وھm(T) 0,70=
�

P P  أن E"F�mP  $!%ك و���Fھ* ?�رة ا��  

m c .= ωP M أي أنm
c =

ω
P

M  E"F�m

(T)

0,7
=

�
P

P cو�!G -,ن  
(T)

0,7
=

×ω

�
P

M

 
c��د%$ +�7  350N.m=M

  
�$ب ا��Yم �  fMب ــ 

� 9$#$ت A1 ا�/� <"e8 * ا���رة ا� :f 0,3P P=  أي أنf . 0,3M Pω =  D�K# $!%و��(T) 0,7P P=
�

fأي fن  . 0,3

0,7(T)

M

P

ω
و�$� $�* �=

f-,ن 
0,3

(T) 105N.m
0,7

M P= =
ω

�
  

  Pج ــ ا���رة 

$!%��T 0,7P P=  أي أنT 1751W
0,7

P
P = =  

  


